Hardware included:

\

5/16-18 X 7/8"

\ il Torque to 18 ft-lbs
% \‘\

“~SHOULDER BOLT
1/2" DIAMETER
5/8" LONG SHOULDER
3/8-16 THREAD
Torque to 33 ft-lbs

300-291
300-291BK

QTY.

HARDWARE

APPLICATION

10

M6 X 12 FLAT WASHER

INTAKE MOUNTING

M6 X 1.0 X 50MM HEX HEAD SCREW

INTAKE MOUNTING

M6 X 1.0 X 100MM HEX HEAD SCREW

INTAKE MOUNTING

5/16 SPLIT LOCK WASHER

FUEL RAIL BRACKETS

5/16-24 X 7/8" HEX HEAD SCREW

FUEL RAIL BRACKETS

5/16-18 X 1-3/8" HEX HEAD SCREW

FUEL RAIL BRACKETS

5/16-18 NYLON LOCKING NUT

FUEL RAIL BRACKETS

1/4-20 X 1.00" BUTTON HEAD SCREW

MAP SENSOR SCREW



http://www.msdignition.com/



